Week 49

FAX: 360-366-3911 PHONE: 360-366-3906

Contact Name: Customer: Requested Ship Day:

Product Name	Order Quantity	Unit	Ea Per	Each	Unit	Total	Total
Indoor Floral		Туре	Unit	Price	Price	Eaches	Price
4" Christmas Cactus		flat	10	\$4.00	\$40.00	0	\$0.00
4" Cyclamen Assorted		flat	10	\$4.00	\$40.00	0	\$0.00
4" Kalanchoe - Red		case	15	\$4.00	\$60.00	0	\$0.00
4" Kalanchoe - White		case	15	\$4.00	\$60.00	0	\$0.00
6" Christmas Cactus		flat	6	\$7.00	\$42.00	0	\$0.00
Danamatala Assantad							
Perennials Assorted		مامداه	1	ć7F 00	Ć7F 00	0	¢0.00
18" Holly Tree - 6ft		single	1	\$75.00	\$75.00	0	\$0.00
4" Perennial - Gaultheria Wintergreen		flat	10	\$4.10	\$41.00	0	\$0.00
4" Perennial - Wilma Cypress		flat	10	\$4.10	\$41.00	0	\$0.00
6.5" Perennial Shrubs and Trees - Picea Gla		flat	6	\$9.25	\$55.50	0	\$0.00
6.5" Perennial Shrubs and Trees - Wilma Cy	/press	flat	6	\$9.25	\$55.50	0	\$0.00
Poinsettia							
10" Poinsettia - Alaska White		single	1	\$23.50	\$23.50	0	\$0.00
10" Poinsettia - Joy White		single	1	\$23.50	\$23.50	0	\$0.00
10" Poinsettia - Red		single	1	\$23.50	\$23.50	0	\$0.00
10" Poinsettia Red Hanging Basket		single	1	\$30.00	\$30.00	0	\$0.00
2.5" Poinsettia - Eve Red		flat	32	\$2.45	\$78.40	0	\$0.00
2.5" Poinsettia - Red in Tin Pot		flat	32	\$2.75	\$88.00	0	\$0.00
2.5" Poinsettia in Christmas Truck		case	10	\$8.00	\$80.00	0	\$0.00
2.5" Poinsettia in Globe		flat	24	\$3.30	\$79.20	0	\$0.00
4" Poinsettia - Christmas Beauty Princess		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Christmas Beauty Queen		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Christmas Beauty Red		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Christmas Feelings Merlot		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Christmas Mouse Red		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Holly Berry		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Red Tapestry		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Superba Glitter		flat	15	\$4.70	\$70.50	0	\$0.00
4" Poinsettia - Winter Rose Dark Red		flat	15	\$4.70	\$70.50	0	\$0.00
6.5" Poinsettia - Alaska White		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Autumn Leaves		flat	6	, \$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Candy Cane Glitter		case	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Beauty Prince		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Beauty Princess		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Beauty Queen		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Beauty Red		flat	6	\$7.75	\$46.50	0	\$0.00

k 49

Contact Name: Customer:

PHONE: 360-366-3906

FAX: 360-366-3911

Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Poinsettia - Christmas Bells Red		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Feeling Pink		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Feelings Merlot		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Christmas Mouse		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Joy White		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Premium Ice Crystals		Flat	6	\$6.50	\$39.00	0	\$0.00
6.5" Poinsettia - Red Ribbons		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Red Tapestry		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Sky Star		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Sky Star Orange		case	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Superba Glitter		flat	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Trial SK 222 - Red		case	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Trial SK272 - Paper White Tra	d Leaf	case	6	\$7.75	\$46.50	0	\$0.00
6.5" Poinsettia - Trial SK276 - Lemony Yellow		case	6	\$7.75	\$46.50	0	\$0.00
8.5" Poinsettia - Christmas Eve Red		single	1	\$19.20	\$19.20	0	\$0.00
8.5" Poinsettia - Tricolor Joy		single	1	\$19.20	\$19.20	0	\$0.00
Cacti and Succulents							
2.5" Succulent - Gasteraloe Cosmo		flat	32	\$2.95	\$94.40	0	\$0.00
4" Succulent Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Gasteraloe Cosmo		flat	10	\$3.30	\$33.00	0	\$0.00
Christmas Greens							
24" Decorated Mixed Wreath		single	1	\$35.00	\$35.00	0	\$0.00
XL Candycane Mixed Greens		single	1	\$35.00	\$35.00	0	\$0.00
Large Tropicals							
12" Tropical Anthurium		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Cordyline Auntie Lou		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dieffenbachia Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Lemon Lime		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Marginata		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Burgundy		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Tineke		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Mixed Planter		single	1	\$30.00	\$30.00	0	\$0.00
12" Tropical Monstera Deliciosa		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Norfolk Pine		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Sansevieria Assorted		single	1	\$22.10	\$22.10	0	\$0.00

Van Wingardan Craanhauses Availability	Week 49		Contact N				
Van Wingerden Greenhouses Availability			Contact Name:				
	FAX: 360-366-391: PHONE: 360-366-3		Customer	: d Ship Day:			
Minimum Order is \$700 or \$100 shipping cha		3900	nequestet	a Silip Day.			
		Unit	Ea Per	Each	Unit	Total	Total
Product Name	Order Quantity	Туре	Unit	Price	Price	Eaches	Price
12" Tropical Spathiphyllum Peace Lily		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Strelitzia White Bird of Paradise		single	1	\$22.10	\$22.10	0	\$0.00
8" Tropical - Assorted		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Ficus lyrata Bambino		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Musa Ever Red		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Ficus Elastica Tineke		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Monstera Deliciosa Tauerii		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Pachira - Money Tree Braided		single	1	\$16.50	\$16.50	0	\$0.00
Tropical Ferns - Indoor							
12" Boston Fern Hanging Basket		single	1	\$16.00	\$16.00	0	\$0.00
2.5" Tropical Fern Assortment		flat	32	\$2.50	\$80.00	0	\$0.00
4" Tropical Fern - Asparagus		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Blechnum Gibbum		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Blue Star		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Button		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Cretan Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - East Indian Holly Fern		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Eyelash		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Heart		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Sickle		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Staghorn		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Tropical Fern - Blue Star		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Boston		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Maidenhair		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Pteris Parkeri		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern Assorted		flat	6	\$6.00	\$36.00	0	\$0.00
Tropical Hanging Baskets							
4" Tropical Assorted Hanging Basket		flat	10	\$5.50	\$55.00	0	\$0.00
8" Tropical Assorted Hanging Basket		single	1	\$15.00	\$15.00	0	\$0.00

## **Tropicals - Collectors**

4" Tropical Maranta Leuconeura Variegata	single
4" Tropical Monstera Burle Marx Flame	single

4" Tropical Philodendron Pink Princess 4" Tropical Syngonium Milk Confetti

6.5" Tropical Olea Europaea Olive Tree

single	1	\$10.00	\$10.00	0	\$0.00
single	1	\$10.00	\$10.00	0	\$0.00
single	1	\$10.00	\$10.00	0	\$0.00
single	1	\$10.00	\$10.00	0	\$0.00
single	1	\$15.00	\$15.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 49	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

PHONE: 360-366-3906

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Tropical Philodendron Ring of Fire		single	1	\$15.00	\$15.00	0	\$0.00
8" Tropical Collector Olea europaea Olive Tree		single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Philodendron Ring of Fire	2	single	1	\$25.00	\$25.00	0	\$0.00
8" Tropical Collector Zamioculcus Zamifolia ZZ	. Plant	single	1	\$25.00	\$25.00	0	\$0.00
Tropicals - Premium							
2.5" Tropical Assortment 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Tropical Foliage Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
4" Tropical Aglaonema Lady Valentine		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Alocasia Stingray		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Beauty Star		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Ctenanthe Amagris		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Ctenanthe Setosa		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Freddie		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Makoyana		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Musaica Network		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Roseopicta Medallion		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Setosa Grey Star		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Chlorophytum - Spider Plant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Coffea Arabica		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ctenanthe Golden Mosaic		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dieffenbachia Green Magic		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dieffenbachia Star Bright		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dracaena Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dracaena Janet Craig Compacta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus lyrata - Bambino		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus Shivereana Moonshine		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Hoya Mathilde		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Hypoestes - Polka Dot Plant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Maranta Leuconeura		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Maranta Red		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Monstera Tauerii		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Obtusifolia - Marble		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Obtusifolia - Red Edge		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Santorini		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Green Princess		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Hastatum Grey		flat	10	\$4.30	\$43.00	0	\$0.00

Van Wingerden Greenhouses Availab	ilit∖	V
-----------------------------------	-------	---

Week 49

Contact Name: Customer:

PHONE: 360-366-3906

FAX: 360-366-3911

Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Tropical Philodendron Imperial Green		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Hahnii Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Spathiphyllum-Peace Lily		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium Gold Allusion		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium White		flat	10	\$4.30	\$43.00	0	\$0.00
6.5" Anthurium Indoor Red		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Tropical Alocasia Sarawakensis		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Sarian		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Watsoniana		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Assortment		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Golden Mos	aic	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Setosa		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Freddie		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Orbifolia		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Roseopicta Medallion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Rufibarba		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Setosa Grey Star		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Chlorophytum - Spider Plant		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Coffea Arabica		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Cordyline Lime Passion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dieffenbachia Tropic Marianne		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dracaena Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dracaena Janet Craig Compacta		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dracaena Marginata		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Farfugium Japonica Gigantea		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Audrey		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Burgundy		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Ruby		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus Elastica Tineke		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus lyrata - Fiddle Leaf Fig		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Monstera Deliciosa Tauerii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Gloriosum		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Goeldii		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Hope		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Imperial Green		flat	6	\$7.00	\$42.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 49 FAX: 360-366-3911		Contact N	ame:			
			Customer:				
	PHONE: 360-366-3	3906	Requested	l Ship Day:			
Minimum Order is \$700 or \$100 shipping char	ge			_			
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Tropical Philodendron Imperial Red		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Narrow		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Rudolph		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Spathiphyllum - Peace Lily		flat	6	\$7.00	\$42.00	0	\$0.00
Tropicals - Rare							
12" Tropical Monstera Thai Constellation		single	1	\$60.00	\$60.00	0	\$0.00
2.5" Tropical Monstera Deliciosa Thai Constell	ation	single	1	\$20.00	\$20.00	0	\$0.00
4" Tropical Monstera Thai Constellation		single	1	\$30.00	\$30.00	0	\$0.00
6.5" Tropical Monstera Thai Constellation		single	1	\$40.00	\$40.00	0	\$0.00
Tropicals with Upgrades - Indoor							
2.5" Tropical in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.00
4" Tropical - Assorted in Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
4" Tropical - Assorted in Ceramic with Pot Star	nd	flat	8	\$8.30	\$66.40	0	\$0.00
4" Tropical Assorted in Rope Pot		case	12	\$6.30	\$75.60	0	\$0.00
4" Tropical Foliage in Holiday Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
6.5" Anthurium Indoor w/Ceramic		flat	3	\$12.90	\$38.70	0	\$0.00
6.5" Tropical Assorted in Ceramic		single	1	\$10.50	\$10.50	0	\$0.00
6.5" Tropical Assorted in Tin		single	1	\$10.50	\$10.50	0	\$0.00
6.5" Tropical Foliage in Ceramic with Pot Stand	d	flat	3	\$13.00	\$39.00	0	\$0.00
8" Centerniece Bowl - Tronical		single	1	\$19.50	\$19.50	0	\$0.00

single

Tropical Basket Centerpiece

1

\$18.00

\$18.00

\$0.00

0